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4.3.

43.1.

b)

-4.3.1

-4.3.2

RCCV
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-4.3.1

mm mm
(mm)
B1F | R5 6 RA 1,500 0.3 1.7
1F Rl RF G 1,200 0.1 1.6
RL 2 RA 1,000 0.2 3.0
RL 2 RG 1,000 0.3 2.1
R2Z RA B 500 0.3 2.0
3F R2 RA B 500 0.2 2.0 1.0
R2 RA B 500 0.3 1.8
R2 rRB C 500 0.1 2.1
R2 RD E 500 0.1 2.5
M3F | R2 RF G 500 0.3 2.0
4F R6 RC D 500 0.2 2.5
-4.3.2
mm mm (mm)
B3F |[R6 7 RA B 600 0.2 1.9 7
B2F | rR6 RD E 600 0.1 2.0 2
B1F R5 6 RD 300 0.3 0.7 8
1IF |rR2 3 RF G 300 0.2 35 13 10
2F Rl 2 RB 300 0.2 2.5 10
3F RS 6 RE 400 0.2 2.4 10
-4.3.3

4-6




a)
-4.3.4
-4.3.4

mm mm (mm)
3F R2Z 3 RA B 300 0.3 2.4
2F R2 rRB C 400 0.3 2.0
3F R2Z RA B 500 0.3 2.0
B3F R6 7 RA B 600 0.2 1.9 1.0
B3F R6 7 RC D 700 0.1 1.8
3F R1 2 RA 1,000 0.2 3.0
2F R5 6 RE F 1,200 0.2 1.0

4-7




-4.3.5

-4.3.5
mm

Rl RF G 0.1 0.2 1
Rl 2 rRB C 0.1 0.4 1
Rl 2 rRC D 0.1 1.4 1
R2 3 RB 0.1 0.5 4
R2Z 3 rRB C 0.1 0.5 6
R2Z 3 rRB C 0.1 1.6 1
R2Z 3 rRB C 0.1 1.6 2
R2Z 3 rRB C 0.1 0.5 6
R2Z 3 rRF G 0.1 0.4 1
R3 4 RE F 0.1 2.2 1
R3 4 rRF G 0.1 1.2 1
B3F R3 4 rRF G 0.1 2.4 1
RS 6 rRD E 0.1 0.9 2
RS 6 RF G 0.1 0.8 6
R6 7 rRB C 0.1 1.4 2
R6 7 rRB C 0.1 15 1
R6 7 rRB C 0.1 0.4 1
R6 7 rRC D 0.1 0.6 1
R6 7 RE F 0.1 1.0 1
R6 7 rRF G 0.1 0.8 1
R6 7 RG 0.1 0.2 1
R7 rRB C 0.1 0.2 1
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-4.3.6

-4.3.7

b)
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-4.3.6

mm mm (mm)
71 TA B 1,400 0.25 1.3
T1 TA B 1,400 0.25 15
71 1B C 1,400 0.1 0.8
1 1C D 1,400 0.1 1.3
7T1 1TC D 1,400 0.2 1.1
71 7C D 1,400 0.2 0.8
T1 2 TA 1,400 0.2 2.7
72 1D E 800 0.2 0.5
72 1D E 800 0.2 1.1
72 TE F 1,100 0.1 1.8

B2F
T3 1D E 800 0.15 3.0
73 TE F 1,000 0.1 0.8
3 TF G 700 0.2 2.3
4 5 1D 1,400 0.3 15
75 1B C 1,000 0.3 0.6
5 6 T1J 800 0.1 1.8
5 6 TJ 800 0.1 1.0 10
5 6 TJ 800 0.1 2.1

77 8 TG H| 1,200 0.15 15

77 8 TG H| 1,200 0.3 0.5
T2 TA B 800 0.1 1.0
T2 TA B 800 0.25 2.0
72 1D E 800 0.1 0.6
72 D E 800 0.1 0.3
72 1D E 800 0.1 1.0
72 TD E 800 0.1 0.5

MB 72 TD E 800 0.1 0.8
2F 4 TH J 1,000 0.1 0.9
4 TH J 1,000 0.1 2.0
4 5 1J 700 0.2 1.8
5 TH J 1,000 0.25 1.2
5 T™H J 1,000 0.1 0.4
5 TH J 1,000 0.1 0.6
5 6 T1J 800 0.15 2.5

4-11




-4.3.6

mm mm (mm)
5 6 TJ 800 0.2 2.5
77 8 T1J 500 0.1 1.7
8 TH J 800 0.1 1.0
MB ™ T™H J 800 0.1 0.5
2F 8 TH J 800 0.1 0.3
8 TH J 800 0.2 1.3
8 9 TG 800 0.3 1.2
8 9 TG 800 0.3 1.8
T1 1D E 950 0.1 1.2
71 1D E 950 0.1 1.3
1 TF G 950 0.1 0.9
1 TF G 950 0.1 0.9
1 TG H 950 0.1 1.0
1 71G H 950 0.1 0.6
T2 TA B 400 0.1 0.8
T2 TA B 400 0.2 1.9
T2 TA B 400 0.2 1.0 10
T2 TA B 400 0.2 1.6
B1F
T2 TA B 400 0.1 0.8
72 TA B 400 0.2 1.0
72 TA B 400 0.15 1.4
T3 TA B 400 0.2 3.7
3 4 TG 1,200 0.1 3.0
74 TB C 1,000 0.2 3.0
4 1B C 1,000 0.15 1.3
74 TB C 1,000 0.35 2.2
74 5 TH 1,000 0.2 4.0
77 1D E 1,000 0.35 1.4
1 TF G 800 0.1 0.8
71 TF G 800 0.15 2.0
1F 72 TC D 600 0.65 1.7
T2 TE F 400 0.1 1.2
T2 TE F 400 0.1 1.8
72 TE F 400 0.2 0.9
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-4.3.6

mm mm (mm)
72 TE F 400 0.15 0.7
72 3 1K 800 0.1 0.1
T2 3 TK 800 0.1 1.2
T3 1D E 1,600 0.3 0.6
T3 1D E 1,600 0.2 2.0
3 4 71J 500 0.1 15
3 4 71J 500 0.1 1.2
3 4 71J 500 0.2 1.2
3 4 7TK 800 0.1 1.4
T4 TG H 1,500 0.1 2.0
T4 TG H 1,500 0.1 1.3
1F T4 5 71K 800 0.1 1.5
6 7 TK 800 0.1 1.4
77 8 TA 400 0.2 1.7
77 8 TD 1,400 0.1 1.1
77 8 TD 1,400 0.1 0.4
77 8 TD 1,400 0.1 0.4
77 8 TD 1,400 0.1 1.2 1.0
77 8 TD 1,400 0.1 2.0
77 8 1D 1,400 0.1 0.9
77 8 TD 1,400 0.1 1.4
8 TG H 800 0.1 15
9 1TC D 600 0.3 2.5
T1 TE F 400 0.1 3.5
71 TE F 400 0.1 1.7
T1 2 7K 400 0.1 0.9
T1 2 7K 400 0.1 0.7
T1 2 7K 400 0.1 1.8
oF 3 4 71K 1,000 0.1 2.0
T4 5 TE 900 0.1 1.6
T4 5 7TK 1,000 0.3 2.8
5 6 TE 900 0.3 1.1
5 6 TE 900 0.1 1.6
5 6 TE 900 0.1 1.0
5 6 TE 900 0.15 1.2
/]
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-4.3.6

mm mm (mm)
6 7 TE 900 0.1 2.0
6 7 TE 900 0.1 0.9
6 7 TE 900 0.1 0.8
6 7 TK 1,200 0.15 1.4
6 7 TK 1,200 0.1 0.9
77 8 T1J 1,000 0.1 0.8
77 8 T1J 1,000 0.1 0.5
77 8 T1J 1,000 0.1 0.1
77 8 TK 1,200 0.1 0.6
77 8 71K 1,200 0.1 1.1
2F 77 8 TK 1,200 0.2 3.3 1.0
8 1J K 1,000 0.1 1.9
8 1) K 1,000 0.1 1.0
8 9 1D 400 0.15 1.3
8 9 1D 400 0.15 1.3
8 9 1D 400 0.1 1.1
8 9 TD 400 0.1 0.8
8 9 1D 400 0.15 15
8 9 1D 400 0.1 1.1
8 9 TH 400 0.1 1.3
8 9 TH 400 0.1 1.0
/]
-4.3.7
mm mm (mm)
B2F | 715 6 TH J 400 0.25 2.0
MB2F| 77 8 TH J 300 0.1 3.5 1.0
B1IF | 77 8 1B C 300 0.45 2.4
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a)
-4.3.8
-4.3.8
mm mm (mm)
T1 2 TE 300 0.15 15
5 6 TH J 400 0.25 2.0
B2F T2 TE F 1,100 0.1 1.8
77 8 171G H 1,200 0.3 0.5
4 5 1D 1,400 0.3 15
MB2F 8 9 TG 800 0.3 1.8 10
B1F 77 1D E 1,000 0.35 1.4
3 4 T1J 500 0.2 1.2
72 7C D 600 0.65 1.7
1F 4 1G H 1,500 0.1 2.0
T3 1D E 1,600 0.3 0.6
2F 75 6 TE 900 0.3 1.1
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a)
-4.3.9
-4.3.9
mm

T1 TE G 0.1 0.2 1
T1 2 TF H 0.1 14.1(8.7) 1 1
72 3 TF G 0.1 3.5 1
T2 3 TH J 0.1 1.0 1
T2 3 TH J 0.1 2.0 1
T2 3 TH J 0.1 0.5 1
72 3 1J K 0.1 3.1(1.2) 1 1
72 4 71K 0.1 0.2 7
13 4 1D E 0.1 4.4 1
T3 4 1D E 0.1 0.7 2
B2F 3 4 TE F 0.1 0.6 1
3 4 TE F 0.1 2.3 1
3 4 TE F 0.2 15 1
T3 4 TF G 0.1 0.5 1

3 4 G H 0.1 2.0x<2.1 2
3 4 1) K 0.1 2.4(0.7) 1 1
4 1) K 0.1 1.5(0.4) 1 1
4 5 TE F 0.1 0.5 1
4 5 TF G 0.1 15 1
4 5 171G H 0.1 0.3 3
4 5 171G H 0.1 0.3 2
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-4.3.9

mm

4 5 TH J 0.1 0.7 1
75 6 TD E 0.1 0.5 1
75 6 TD E 0.1 0.3 1
75 6 TE F 0.1 0.8 1
75 6 TE F 0.1 0.8 1
5 6 TF G 0.1 0.6 1
75 6 TG H 0.1 1.1 2
75 6 TG H 0.1 1.0 1
75 6 TG H 0.1 0.9 1
75 6 TG H 0.1 0.4 1
75 6 TG H 0.1 0.5 1
5 6 TG H 0.1 0.4 1
5 6 1G H 0.1 0.3 1
5 6 1G H 0.1 0.5 1
5 6 1J K 0.1 4.02.7) 1 1
5 6 TK 0.1 0.2 1
5 6 TK 0.1 0.2 1
B2F 5 6 TK 0.1 0.2 1
5 7 1K 0.1 0.2 4
™ G H 0.1 1.2 1
6 7 1D E 0.1 0.6 1
™ 7 1D E 0.1 0.5 2
™ 7 1D E 0.1 0.5 1
™ 7 TE F 0.1 15 1
6 7 TE F 0.1 0.5 1
T 7 TE F 0.1 0.5 1
T 7 TE F 0.1 0.3 1
6 7 TE G 0.1 0.6 3
M 7 TF G 0.1 0.3 3
™ 7 TF G 0.1 2.0 1
M 7 TF G 0.1 0.4 1
™ 7 171G H 0.1 0.5(0.4) 1 4
™ 7 171G H 0.1 0.9 1
™ 7 171G H 0.1 0.3 1
™ 7 1) K 0.1 0.5 1
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-4.3.9

mm
77 TH J 0.4 1.0 1
77 8 171G J 0.1 0.7 5
77 8 TH J 0.1 2.1 2
77 8 1J K 0.1 3.7 1
77 8 1J K 0.1 1.6 1
77 8 1J K 0.1 2.4 1
B2F 77 8 1K 0.1 0.2 2
77 8 TK 0.1 0.2 1
® 9 01 | 2200
8 9 1K 0.1 0.2 6
8 9 1K 0.1 0.2 2
79 TE H 0.1 0.2 6
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-5.1.2

T.M.S.L , ) G/Gy h(%)
(m) Vs(m/s) | y(kN/m®) v Go(KN/m“)
+12.0 150 16.1 0.347 36,900 0.25 23
+8.0 200 16.1 0.308 65,700 0.25 23
+4.0 330 17.3 0.462 192,000 0.60 5
-6.0
490 17.0 0.451 416,000 0.90 3
-33.0
530 16.6 0.446 475,000 0.90 3
-90.0
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-5.2.2

T.M.S.L , , G/Gy h(%)
(m) Vs(n/s) | y(kN/m*) v Go(KN/m)
+12.0 150 16.1 0.347 36,900 0.25 23
+8.0 200 16.1 0.308 65,700 0.25 23
+4.0 330 17.3 0.462 192,000 0.60 5
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490 17.0 0.451 416,000 0.90 3
-33.0
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